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Ron and Dora are doing a sponsored walk.
Ron walks 3.12 miles.
Dora walks 5.49 miles.

How much further does Dora walk than Ron?
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Here are some items for sale in a shop.

£2.27 £9.10 £4.91 £1.09

a) How much more does a scarf cost than a bag of marbles?
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b) Esther has £15.31
She buys a pair of headphones and a bag of marbles.
How much money does she have left?

c¢) Tom has £7.01
He buys one item and has £5.92 left.

What did he buy?
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Tommy has three pieces of string.
® The first piece is 0.78 m long.
® The second piece is 0.24 m shorter than the first piece.
@ The third piece is 0.07 m shorter than the second piece.
What is the total length of all three pieces of string?

Give your answer in metres and centimetres.




